


Ref# Part# Description Qty Context Note Foot Note MSRP

I 660294006 SCREW - #8 4 x 16mm CHS50400 0.92
2 660203062 SCREW -3 x 12mm CHS50400 0.92
HANDLE ASSEMBLY - HI / LOW
3 440004373 SWITCH CH50400 105.04
4 660165010 HANDLE SCREW -4 X 18MM CH50400 0.88
UPPER HANDLE TUBE
5 440004374 ASSEMBLY CHS50400 56.80
6 517961001 CARRY HANDLE CHS50400 2.35
LOWER HANDLE TUBE
7 002063001 ASSEMBLY CH50400 13.01
562188001 SEALING O-RING CHS50400 0.92
517963001 RETAINING COLLAR CH50400 1.54
OUTER CLOTH BAG ASSEMBLY
10 440004375 _ ORANGE / BLACK CHS50400 158.67
FIXING PLATE AND SCREW
11 002059001 ASSEMBLY CH50400 0.88
TYPE Q BAG - HEPA INNER
12 302982002 DISPOSABLE BAG / BULK CH50400 5.73
TYPE Q BAG - HEPA INNER
12 AHIO0178PC DISPOSABLE BAG / 25 PACK CH50400 17.48
TYPE Q BAG - ALLERGEN
12 AH10021  INNER DISPOSABLE BAG/ 10 CH50400 9.99
PACK
13 440004376  MOTOR ASSEMBLY - 5 AMP CHS50400 141.05
14 517947001 BRACKET / HOUSING CHS50400 1.25
15 660021002 SCREW -8 X 16MM CH50400 0.60
16 517944001 MOTOR SEAL CHS50400 0.92
17 517942001 MOTOR CLAMP CHS50400 0.92
18 517941001 MOTOR CLAMP CH50400 0.92
DIRT PASSAGE DUCT
19 002065001 ASSEMBLY CHS50400 5.88
20 440004377 NOZZLE BASE ASSEMBLY CHS50400 104.60
21 002071001 REAR WHEEL ASSEMBLY CHS50400 5.07
22 440004378 HUBCAP ASSEMBLY CH50400 2.53
23 620859001 REAR WHEEL SHAFT CH50400 1.69
24 691040002 E - CLIP CHS50400 0.92
25 517935001 HANDLE STOPPER CHS50400 0.92
26 440004379 CORD GROMMET CH50400 0.60
27 690394001 SPRING CH50400 0.92
28 440003634 MAIN PCB ASSEMBLY CHS50400 117.67

29 660202016 SCREW CH50400 0.92



30

31

32

33

34

35
36
37
38
39
40

41

42

561690001

440004380

440004385

002067001

001080011

440004381
620858001
660212060
301428009
562200001
440004382

440004383

440004384

SILICON WASHER

NOZZLE GUARD WITH
SCATTER GUARD WIPER
ASSEMBLY

SCATTER GUARD WIPER
ASSEMBLY

EDGE CLEANING BRISTLE
ASSEMBLY

SCREW - NOZZLE GUARD /7
PACK 3 x 10mm

FRONT WHEEL ASSEMBLY
FRONT WHEEL SHAFT
SCREW -4 X 16MM
BRUSH ROLL ASSEMBLY

V-BELT

NOZZLE COVER ASSEMBLY
PIG TAIL POWER CORD -

ORANGE

EXTENSION CORD - 35' 18 AWG

ORANGE

CH50400

CH50400

CH50400

CH50400

CH50400

CHS50400
CHS50400
CHS50400
CHS50400
CHS50400
CH50400

CH50400

CH50400

0.92

15.80

1.60

0.59

0.85

5.00

1.18
0.92
22.39
16.46
34.47

8.00

95.53



